| dE/dx estimator 1 |

C Entries 2337
- Mean 3.227
B Std Dev 0.4734
0.3t mtee bt : : . |
- Entries 2338
- Mean 3.227
0.25[ it g Py 0.4733
r Enties 2337
L0 S N - S b Mean 3.227
L Std Dev 0.4734
0 15__ ................. .. ....... Entries 2337
’ C : Mean 3.227
L Std Dev 0.4734
V5| TS S § T RN EESNS MO TS DS
0_05__ .................. ...................................................
2o ] N T T PP
1;1— ----- } } ---------------------- o - - e
0.95' i i i i i i i i i
0 1 2 3 4 5 6 7 8 9 10

dE/dx, harm?2

| dE/dx estimator 2 |

Entries 2337
C Mean 2.982
O 35 U R I - S Std Dev 0.4414
- Entries | 2338
03 T Mean 2.982
r Std Dev 0.4414
0.25F-i-eeeiveen i et Entries 2337
o : : : : Mean 2.982
C : : : : : : | Std Dev 0.4414
0.2 iy T e P T T AR 1
o =N i | Entries 2337
B . . . . Mean 2.982
O R e 0 IR SR A Std Dev 0.4414
0 et ORI SDLEEE SYPIRS SRS toeey
0.05f i T e e S A
S g [ I P
o +W : ' : " ;
= [ 1L :
© 1 : : :
x 1 : ; ;
- g H B LR LR R R R e - oo
0.95 I i i i i i i i i i
O 1 2 3 4 5 6 7 8 9 10

dE/dx, trunc40

—e— DQM_TT__originalREDO_option3
—— DQM_TT__originalREDO_option4

—=— /dataZlegianni/pareto-optirestart/CMSSW_14_0_5/sTc/MTV-plot/DQM_TT__original_PU

0.14¢

0.12}

0.08;

0.06}

0.02F

0.1

...................................................

0 O O RO SRR S
005k AU DUUNE SO NUUNE SO
0O 10 20 30 40 50 60 70 80

dE/dx number of measurements

0.15
0.1
0.05

—+— DQM_TT__originalREDO_option5
M M — .__I:IILIICD _LQOI CTIaTeS 2337
: : ¢ | Mean 10.55 0-45 """"""""""""""""""""""""" Mean 0.9093
Std Dev 3.222 £ Std Dev 1.044
; ] (O R R PP PR Py PR R PR PRY SR P EPEE SIS SRR FP R ]
Entries 2338 g Entries 2338
__________________________________________ Mean 10.55 0 35 s bt Mean 0.9089
Std Dev 3.223 . Std Dev 1.044
.................................. Entries 2337 O.3fF ety e g 2337
Mean 10.55 - Mean 0.9093
Std Dev 3.222 Q.25 -t Std Dev 1.044
Entries 2337 0 2: ________________________________________ Entries 2337
Mean 10.55 o Mean 0.9093
""""""""""""""""""" Std Dev 3.222 o Std Dev 1.044

......................................................................

Ratio

F
(=)
T T+ L -'l'—r'l'l'l'l'l'1'l'1'r

0.95f
0

10 20 30 40 50 60 70 80

dE/dx number of measurements with saturation



	Contents
	Page 1


